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������ �� 
��� �������� ��� �
������ ��� ������
�� ���!��� �� ����! Fourier:

"�# $������	 
��������! �%	�� ����&"�#

"'# x(t) = [1 + cos 2πt][cos(10πt + π
4
)]

"(# x(t)) �� ������*����� ��� �%	�� ����&"'#�

����+

"�# ,� 
������� �%	�� �%�� 
�����	 ���������� -� �� ������ a0 = 0 ��� an = 0 n = 1, 2, ..

bn =
2

T

∫ T/2

−T/2

x(t) sin nω0t dt =
2

2

∫ 1

−1

t sin n(
2π

2
)t dt =

∫ 1

−1

t sin nπt dt =

=
[sin nπt

n2π2
− t cos nπt

nπ

]1

−1
= −(−1)n

nπ
− (−1)n

nπ
= −2

(−1)n

nπ

=

⎧⎨
⎩ −

2
nπ

n = 2ρ, ρ = 1, 2, . . .

2
nπ

n = 2ρ + 1, ρ = 0, 1, 2, . . .
"����&#

&
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x(t)

t−2 −1 0 1 2

1

−1

x(t)

t−4 −2 0 2 4 6

2

"�# "'#

�%	�� ����&+ "�# $������	 
��������!� "'# �	�� x(t)�

"'#

x(t) =
[
1 + cos 2πt

][
cos (10πt +

π

4
)
]

= cos (10πt +
π

4
) + cos 2πt cos (10πt +

π

4
)

= cos 10πt

√
2

2
− sin 10πt

√
2

2
+

1

2

[
cos (2πt + 10πt +

π

4
) + cos (10πt +

π

4
− 2πt)

]
=

√
2

2
cos 10πt−

√
2

2
sin 10πt +

1

2

[√2

2
cos 12πt−

√
2

2
sin 12πt +

+

√
2

2
cos 8πt−

√
2

2
sin 8πt

]
=

[√2

4
cos 8πt +

√
2

2
cos 10πt +

√
2

4
cos 12πt

]
−

−
[√2

4
sin 8πt +

√
2

2
sin 10πt +

√
2

4
sin 12πt

]
. "����.#

"(# /��(����*���� ��� T = 4 �
���

a0 =
1

T

∫ T

0

x(t) dt =
1

4

[ ∫ 4

0

x(t) dt
]

=
3

4
"����0#

an =
2

4

∫ 2

0

x(t) cos n
2π

4
t dt =

1

2

[ ∫ 1

0

2 cos
nπt

2
dt +

∫ 2

1

cos
nπt

2
dt

]
=

∫ 1

0

cos
nπt

2
dt +

1

2

∫ 2

1

cos
nπt

2
dt

=
[sin nπt

2
nπ
2

]1

0
+

1

2

[sin nπt
2

nπ
2

]2

1

=
1

πn
sin (

nπ

2
). "�����#
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���� 0

bn =
2

T

∫ 2

0

x(t) sin (
nπt

2
) dt =

2

4

[
2

∫ 1

0

sin
nπt

2
dt +

∫ 2

1

sin
nπt

2
dt

]
=

1

2

[
− 2

[cos nπt
2

nπ
2

]1

0
−

[cos nπt
2

nπ
2

]2

1

]

=
1

2

[
− 2

[cos nπ
2

nπ
2

− 1
nπ
2

]
−

[cos nπ
nπ
2

− cos nπ
2

nπ
2

]]

=
1

2

[
2

2

nπ
− cos nπ

nπ
2

]
=

1

2

[
2

2

nπ
− 2

nπ
(−1)n

]
=

2

nπ
− (−1)n

nπ

=

⎧⎨
⎩

1
nπ n = 2ρ, ρ = 1, 2, . . .

3
nπ n = 2ρ + 1, ρ = 0, 1, 2, . . .

"�����#

������ �� ��� 
�� � ������ ��� � �����!������ ����� �1�������! %�	���� ���� ��!���� 2�3�/

������!���� ,� � �� �
���� �� ��
�
�� ��� (�� �� (������! %��������'�������� ����	�����

4���� ��� ������ ������� 
��  ��(������� �� ���� � x(t) ��� 
��!(�� �1� � y(t)� 5��� ��� ���

�	�� φ(t) ����� ��� � �����!����� ��� ����	����� ��

φ(t) −→ λφ(t) "����6#

�
�� λ ����� (����! ��� ��(� ��	 ���
��! 
�� ��(���� � �����	 
�� ��������%�� ���� φ(t)�

"�# /� �
�
������ ��� �
������ �� ���
�����	����� ��� ���� � ��� ������� ��� ��

(������� ��� ����� � ��������	���� ϕk(t)) �� �
���� �%��� ��������%�� � ������� λk+

x(t) =
+∞∑

k=−∞
ckϕk(t). "����7#

�� ����!���� ��� �1� � y(t) ��� ����	����� �� ����� ��� ck, ϕk ��� λk�

"'# 8���	��� �� ������� 
�� %��������*���� �
� ���  �������	 �1�����

y(t) = t2
d2x(t)

dt2
+ t

dx(t)

dt
. "����9#

����� ���� �� ������� (�������: ����� %�����! ����!'����:

"(# ;��1�� ��� �� ������ ��� ������	����

ϕk(t) = tk "����<#

����� � ��������	���� ��� ����	������ $���� ����� �� ��������%�� � �������:
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����

" # $��� ������� ��� �1� � ��� ����	����� ��+

x(t) = 10 t−10 + 3 t +
1

2
t4 + π. "����&=#

����+

"�#

φk(t) −→ λkφk(t)

ckφk(t) −→ λkck φk(t) �����(����� "����&&#∑
k

ck φk(t) −→
∑

k

λk ck φk(t) �
�������� "����&.#

"'# ,� ������� ����� %�����! ����'��������)  ���� �� ����������� ��� 
���(>(��  �� �����

���
����) !��� %������� ������	����� ? ��%	 ��� �
�������� ��%��� (���� ��

x(t) = x1(t) + x2(t) "����&0#

���� � �1� ��  ������ �
� ���

y(t) = t2
d2x(t)

dt2
+ t

dx(t)

dt
= t2

[
d2x1(t)

dt2
+

d2x2(t)

dt2

]
+ t

[
dx1(t)

dt
+

dx2(t)

dt

]

=

[
t2

d2x1(t)

dt2
+ t

dx1(t)

dt︸ ︷︷ ︸
T{x1(t)}

]
+

[
t2

d2x2(t)

dt2
+ t

dx2(t)

dt︸ ︷︷ ︸
T{x2(t)}

]
. "����&�#

������ �
���� �� �
���
����� ��� � ��%	 ��� �����(�������

"(#

T{tk} = t2
d2

dt2
tk + t

d

dt
tk = t2k(k − 1) tk−2 + tk tk−1

= k(k − 1) tk + k tk = {k2 − k + k}tk = k2︸︷︷︸
� �����	

tk. "����&�#

4/��

φk(t)→ k2 tk. "����&6#

" #

10 t−10 → 10(−10)2 t−10 = 1000 t−10 "����&7#

3 t → 312 t = 3 t "����&9#

1

2
t4 → 1

2
16 t4 = 8 t4 "����&<#

π t0 → π02 = 0. "����.=#
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���������
���� �

����
>�

x(t)→ 3 t + 8 t4 + 1000 t−10. "����.&#

����	� �� �
���(����� �� �����%�������� Fourier ��� ������
�� ���!��� �� �� %�	��

��� ������� ��� �� �� %�	�� ��� � ���	���+

"�# [e−at cos ω0t] u(t)) a > 0

"'# x(t) =

{
1 + cos πt �� |t| < 1

0 �� |t| > 1

"(# e2+t u(−t + 1).

����+

"�# @� �� %�	�� ��� �������

X(ω) =

∫ ∞

−∞
x(t) e−jωt dt =

∫ ∞

0

e−at cos ω0t e−jωt dt

=

∫ ∞

0

e−at cos ω0t [cos ωt− j sin ωt] dt

=

∫ ∞

0

e−at cos ω0t cos ωt dt− j

∫ ∞

0

e−at cos ω0t sin ωt dt

=
1

2

∫ ∞

0

e−at cos (ω − ω0)t dt +
1

2

∫ ∞

0

e−at cos (ω + ω0)t dt

−j

2

∫ ∞

0

e−at sin (ω − ω0)t dt− j

2

∫ ∞

0

e−at sin (ω + ω0)t dt

=
1

2

[ a

a2 + (ω − ω0)2
+

a

a2 + (ω + ω0)2

]
− 1

2

[ j(ω − ω0)

a2 + (ω − ω0)2
+

j(ω + ω0)

a2 + (ω + ω0)2

]
=

1

2

[ 1

a + j(ω − ω0)
+

1

a + j(ω + ω0)

]
. "����..#

@� �� %�	�� ��� � ���	���

e−atu(t)
F←→ 1

a + jω
"����.0#

cos ω0t
F←→ π

[
δ(ω − ω0) + δ(ω + ω0)

]
"����.�#

�
���

F
{

e−at u(t) cos ω0t
}

=
1

2π

[ 1

a + jω
∗ πδ(ω − ω0) +

1

a + jω
∗ πδ(ω + ω0)

]
=

1

2π

[ π

a + j(ω − ω0)
+

π

a + j(ω + ω0)

]
=

1

2

[ 1

a + j(ω − ω0)
+

1

a + j(ω + ω0)

]
. "����.�#
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"'#

x(t) =

⎧⎨
⎩ 1 + cos πt |t| < 1

0 |t| > 1
"����.6#

@� �� %�	�� ��� �������

X(ω) =

∫ ∞

−∞
x(t) e−jωtdt =

∫ 1

−1

(1 + cos πt) e−jωt dt =

∫ 1

−1

e−jωt dt +

∫ 1

−1

cos πt e−jωt dt

=

∫ 1

−1

cos ωt dt− j

∫ 1

−1

sin ωt dt +

∫ 1

−1

cos πt cos ωt dt− j

∫ 1

−1

cos πt sin ωt dt

=
[sin ωt

ω

]1

−1
+ j

[cos ωt

ω

]1

−1
+

1

2

[ ∫ 1

−1

cos (π + ω)t dt +

∫ 1

−1

cos (π − ω)t dt

]

−j
1

2

[ ∫ 1

−1

sin (ω − π)t dt +

∫ 1

−1

sin (ω + π)t dt

]

=
sin ω

ω
− sin (−ω)

ω
+ j

[cos ω

ω
− cos (−ω)

ω

]
+

1

2

{[sin (π + ω)t

(π + ω)

]1

−1
+

+
[sin (π − ω)t

(π − ω)

]1

−1

}
− j

2

{[
− cos (ω − π)t

(ω − π)

]1

−1
+

[− cos (ω + π)t

(ω + π)

]1

−1

}

=
2 sin ω

ω
+

1

2

{
sin (π + ω)− sin [−(π + ω)]

π + ω
+

sin (π − ω)− sin [−(π − ω)]

(π − ω)

}
+

+
j

2

{
− 1

ω − π

[
cos (ω − π)− cos [−(ω − π)]

]
− 1

ω + π

[
cos (ω + π)− cos [−(ω + π)]

]}

=
2 sin ω

ω
+

sin (π + ω)

π + ω
+

sin (π − ω)

π − ω
. "����.7#

@� �� %�	�� ��� � ���	���+

x(t) = (1 + cos πt)︸ ︷︷ ︸
f(t)

[u(t + 1)− u(t− 1)]︸ ︷︷ ︸
g(t)

. "����.9#

4���� F{g(t)} = G(ω)� ,���

G(ω) = ejωF
{

u(t)
}
− e−jωF

{
u(t)

}
= [ejω − e−jω]F

{
u(t)

}
. "����.<#

�
�� 	 ����

F
{

u(t)
}

= πδ(ω) +
1

jω
"����0=#

�%����

G(ω) =
[
ejω − e−jω

][
πδ(ω) +

1

jω

]
= 2j sin ω

[
πδ(ω) +

1

jω

]
= 2

sin ω

ω
"����0&#
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F (ω) = 2πδ(ω) + π
[
δ(ω − π) + δ(ω + π)

]
"����0.#

X(ω) =
1

2π
(F ∗G)(ω) =

1

2π

[
G(ω) ∗ 2πδ(ω) +

+G(ω) ∗ πδ(ω − π) + G(ω) ∗ πδ(ω + π)
]

=

= G(ω) +
1

2

∫ ∞

−∞
G(ω − λ)δ(λ− π) dλ +

1

2

∫ ∞

−∞
G(ω − λ)δ(λ + π) dλ

= 2
sin ω

ω
+

[1

2
G(ω − λ)

]
λ=π

+
[1

2
G(ω − λ)

]
λ=−π

= 2
sin ω

ω
+

sin (ω − π)

ω − π
+

sin (ω + π)

ω + π
. "����00#

"(#

y(t) = e−t u(t)
F←→ Y1(ω) =

1

1 + j ω
"����0�#

y(−t) = et u(−t)
F←→ Y2(ω) = Y1(−ω) =

1

1− jω
"����0�#

y(−(t− 1)) = et−1 u(1− t)
F←→ Y3(ω) = e−jωY2(ω) = e−jω 1

1− jω
"����06#

x(t) = e3 et−1 u(1− t) = e3 y(−t + 1)
F←→ Y (ω) = e(3−jω) 1

1− jω
.

"����07#

@� �� %�	�� ��� �������

Y (ω) =

∫ ∞

−∞
y(t) e−jωt dt =

∫ 1

−∞
e2+t e−jωt dt = e2

∫ 1

−∞
e(1−jω)t dt

= e2

[
e(1−jω)t

1− jω

]1

−∞
= e2 e(1−jω)

1− jω
=

e3−jω

1− jω
. "����09#

����
� 4���� X(ω) � �����%��������� Fourier ��� �	����� x(t) 
�� �%� �!*���� ��� �%	�

�� ����.�

"�# A����� �� �!�� ��� �����%��������� ∠X(ω)

"'# A����� �� X(0)

"(# A����� ��
∫ ∞
−∞ X(ω) dω

" # B
���(���� ��
∫ ∞
−∞ X(ω) 2 sin ω

ω
ej2ω dω

"�# B
���(���� ��
∫ ∞
−∞ |X(ω)|2 dω



9 �� ��������	�
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x(t)

−1 0 1 2 3

1

2

t

�%	�� ����.+ �	�� x(t) ��� 4/������ ������

"��# �%� �!��� ��� ���������� �����%�������� Fourier ��� Re{X(ω)}�

�� ���������� ����� ���� �
���(������ %���� ��������� �
���(���� ��� X(ω),  ��� 	 ��


����(����� ��� �1����� ������� ��� �!������ %�	�� ��� � ���	��� ��� ��� 
��!��� ���

*��(>� �����%�������>��

����+

/
� �� �%	���� ����0"'# ��� ����0" # 
����
��� ��� �� �	�� x(t) ��������� ��+

x(t) = x1(t− 1)− x2(t− 1). "����0<#

2�� �� �	�� x1(t) ��� �� ��
���������� ����(���� ��� x1(t− 1) �%����

x1(t) =

⎧⎨
⎩ A |t| < T1

0 �����

F←→ X1(ω) = 2A
sin ωT1

ω

∣∣∣
A=2,T1=2

= 4
sin 2ω

ω
"�����=#

x1(t− 1)
F←→ e−jω 4

sin 2ω

ω
"�����&#

��> (�� �� �	���� x2(t) ��� x2(t− 1) 
��������

x2(t)
F←→

[
sin ω

2
ω
2

]2

"�����.#

x2(t− 1)
F←→ e−jω

sin2 ω
2

ω2

4

. "�����0#

4/��

X(ω) = e−jω

[
4
sin 2ω

ω
− sin2 (ω/2)

ω2/4

]
= 4 e−jω

[
sin 2ω

ω
− sin2 (ω/2)

ω2

]
. "������#

�
������



�� ��������	�
� �
���������
���� <

x1(t)

t−2 0 2

2

x1(t−1)

t−1 0 3

2

"�# "'#
x2(t)

t−1 0 1

1

x2(t−1)

t
10 2

1

"(# " #

−x2(t−1)

t
10 2

−1

"�#

�%	�� ����0+ �	���� "�# x1(t)) "'# x1(t− 1)) "(# x2(t)) " # x2(t− 1) ��� "�# −x2(t− 1)�



&= �� ��������	�
� �
���������
����

"�# ∠X(ω) = −ω�

"'#

X(0) = lim
ω→0

4 e−jω

[
sin 2ω

ω
− sin2 (ω/2)

ω2

]
= lim

ω→0
4 e−jω

[
2
sin 2ω

2ω
− 1− cos ω

2ω2

]

= lim
ω→0

4e−jω

[
2
sin 2ω

2ω
− 1− cos ω

2ω2

]
= 4

[
2− lim

ω→0

sin ω

4ω

]
= 8− 1 = 7."������#

"(# /�����
���>���� �� �����%�������� X(ω) ��� �����	���� 
����
���∫ +∞

−∞
X(ω) dω =

∫ +∞

−∞

[
4
sin 2ω

ω
− sin2 (ω/2)

(ω/2)2

]
e−jω dω. "�����6#

�!����� �� ���C� �� ���(!(���� �� �������>���� ���� "�����6# �D ���! ��� �����

������� �����%�������>� Fourier∫ +∞

−∞
4
sin 2ω

ω
ejωt dω "�����7#

∫ +∞

−∞

sin2 (ω/2)

(ω/2)2
ejωt dω "�����9#

�� �
��� �� �
���(������ ��� ������
�� �� 
!����� ��� ����� ���� (�� t = −1+

1

2π

[ ∫ +∞

−∞
4
sin 2ω

ω
ejωt dω

]
= 2[u(t + 2)− u(t− 2)]

t=−1−→ 2× 2π "�����<#

1

2π

[ ∫ +∞

−∞

sin2 (ω/2)

(ω/2)2
ejωt dω

]
= (1− |t|) t=−1−→ 0× 2π. "�����=#

4/�� ∫ +∞

−∞
X(ω)dω = 4π. "�����&#

" # E����>���� �
� ��� ∫ +∞

−∞
X(ω)

2 sin ω

ω︸ ︷︷ ︸
H(ω)

ej2ω dω "�����.#


��������

h(t) =

∫ +∞

−∞
H(ω) ejωt dω = 2π F−1{H(ω)}. "�����0#

/��(����*���� ��� h(2) ����� �� *�������� �����	����) �
��

F−1
{

H(ω)
}

= F−1
{

X(ω)
2 sin ω

ω

}
= x(t) ∗ [u(t + 1)− u(t− 1)]︸ ︷︷ ︸

g(t)

. "������#



�� ��������	�
� �
���������
���� &&

? ���	 ��� ������1�� ���� "������# (�� t = 2 ������� �� �� ��'� �� ��� ���
�*���) ����

� ��
�(>���� 
����� �%�� ������ (�� t = 2 �
�� �������� ��� �%	�� ������

x(t) ∗ [u(t + 1)− u(t− 1)] = 2 + (
1 + 2

2
× 1) = 2 +

3

2
=

7

2
"������#

�
���

h(2) = 2π (
7

2
) = 7π. "�����6#

x(λ),g(t−λ)

−1 0 1 2 3

1

2

λ
t−1 t t+1

�%	�� �����+ B
���(����� ������1�� ��� ��>���� �����" #�

"�# ∫ +∞

−∞
|X(ω)|2 dω = 2π

∫ +∞

−∞
|x(t)|2 dt

= 2π
[ ∫ 0

−1

x2(t) dt +

∫ 1

0

x2(t) dt +

∫ 2

1

x2(t) dt +

∫ 3

2

x2(t) dt
]

= 2π
[
4

∫ 0

−1

dt +

∫ 1

0

(2− t)2 dt +

∫ 2

1

t2 dt +

∫ 3

2

4 dt
]

=

= 2π
[
8 +

[t3

3

]2

1
+

∫ 1

0

4 dt− 4

∫ 1

0

t dt +

∫ 1

0

t2 dt
]

=

= 2π
[
8+

[8

3
− 1

3

]
+4− 4

1

2
+

1

3

]
= 2π

[
10 +

8

3

]
= 20π +

16π

3
=

76π

3
. "�����7#

"��#

Re{X(ω)} =
X(ω) + X∗(ω)

2

F−1←→ 1

2
[x(t) + x(−t)] "�����9#

�
�� 	 (�� �� 
��(������ �	�� x(t) ��%���

X∗(−ω)
F←→ x∗(t)⇔ X∗(ω)

F←→ x∗(−t) = x(−t). "�����<#



&. �� ��������	�
� �
���������
����

1
2
[x(t)+x(−t)]

−1 0 1 2 3

0.5

1

1.5

2

t
−3 −2

�%	�� �����+ �	�� 1
2
[x(t) + x(−t)]�

,� �
�������� �%� �!*���� ��� �%	�� ������

������ �� '��
�� � �����%��������� Fourier ��� ���!���+

"�# f(t) = 2 cos ω1t cos ω2t

"'# f(t) = g(t) cos2 ω1t) �
�� G(ω) ����� (������

"(# g(t) = f(at− 1)) �
�� F (ω) ����� (�������

����+

"�#

cos ω1t
F←→ F1(ω) = π[δ(ω − ω1) + δ(ω + ω1)] "����6=#

cos ω2t
F←→ F2(ω) = π[δ(ω − ω2) + δ(ω + ω2)] "����6&#

2 cos ω1t cos ω2t
F←→ 2

2π
[(F1 ∗ F2)(ω)] =

1

π
[(F1 ∗ F2)(ω)]. "����6.#

/��!

(F1 ∗ F2)(ω) =

∫ +∞

−∞
π
[
δ(λ− ω1) + δ(λ + ω1)

]
π
[
δ(ω − λ− ω2) +

+δ(ω − λ + ω2)
]

dλ

= π2

{ ∫ +∞

−∞

[
δ(λ− ω1)δ

[
ω − λ− ω2

]
+

+δ(λ− ω1)δ(ω − λ + ω2) + δ(λ + ω1)δ(ω − λ− ω2) +



�� ��������	�
� �
���������
���� &0

+δ(λ + ω1)δ(ω − λ + ω2)
]

dλ

}
= π2

[
δ(ω − ω1 − ω2) + δ(ω − ω1 + ω2) + δ(ω + ω1 − ω2) +

+δ(ω + ω1 + ω2)
]

= π2

{
δ
[
ω − (ω1 + ω2)

]
+ δ

[
ω − (ω1 − ω2)

]
+

+δ
[
ω + (ω1 − ω2)

]
+ δ

[
ω + (ω1 + ω2)

]}
. "����60#

��� �!*����� ��� "����6.# ��� "����60# 
��������

2 cos ω1t cos ω2t
F←→ π

[
δ
[
ω − (ω1 + ω2)

]
+ δ

[
ω − (ω1 − ω2)

]
+

+δ
[
ω + (ω1 − ω2)

]
+ δ

[
ω + (ω1 + ω2)

]]
. "����6�#

"'# �
�� 	

g(t)
F←→ G(ω) "����6�#

���

2 cos2 ω1t
F←→ F (ω)

(5.5.64)
= π

[
δ(ω − 2ω1) + δ(ω) + δ(ω) + δ(ω + 2ω1)

]
= π

[
2δ(ω) + δ(ω − 2ω1) + δ(ω + 2ω1)

]
"����66#

����+

g(t) cos2 ω1t
F←→ 1

2π

[
(G ∗ F )(ω)

]
=

1

2π

π

2

[
G(ω) ∗

[
2δ(ω) + δ(ω − 2ω1) + δ(ω + 2ω1)

]]
=

1

4

[
2G(ω) + G(ω − 2ω1) + G(ω + 2ω1)

]
=

1

2
G(ω) +

1

4

[
G(ω − 2ω1) + G(ω + 2ω1)

]
. "����67#

/� G(ω) ����� � �����%��������� Fourier ��� �%	����� ����6) ���� � 
����
��� �����

�%��������� �%� �!*���� ��� �%	�� ����7�

"(#

g(t) = f(at− 1) = f [a(t− 1

a
)] "����69#

8� �!����� %�	�� ��� � ���	���+

f(t)
F←→ F (ω) "����6<#

f(at)
F←→ 1

|a|F (
ω

a
) "����7=#
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����

G(ω)

0
ω

�%	�� ����6+ @����%��������� Fourier G(ω)�

1
2
G(ω)1

4
G(ω + 2ω1)

1
4
G(ω − 2ω1)

−2ω1

ω
0 2ω1

�%	�� ����7+ @����%��������� Fourier ��� �	����� g(t) cos2 ω1t�

�
���

h(z) = f(t− 1

a︸ ︷︷ ︸
z

)
F←→ H(ω) = e−jωa F (ω) "����7&#

g(t) = h(az)
F←→ 1

|a|H(
ω

a
) =

1

|a| e
−j ω

a2 F (
ω

a
). "����7.#

������ �� '��
�� � �����%��������� Fourier ��� sin ω0t �
� �� (����� �����%��������

Fourier ��� ejω0t�

����+

sin ω0t =
ejω0t − e−jω0t

2j

=
1

2j

[
2πδ(ω − ω0)− 2πδ(ω + ω0)

]
= jπ

[
δ(ω + ω0)− δ(ω − ω0)

]
. "����70#
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F (ω)

A

−ω0−β −ω0 −ω0+β ω0−β ω0 ω0+β
ω

0

2β 2β

�%	�� ����9+ F!��� F (ω)�

������ �� '��
�� �� �	�� 
�� �%�� �����%�������� Fourier ����� ��� �%	����� ����9�

����+

����� ������ ��� �� F (ω) ��� �%	����� ����9 ����� �� �!��� ���  ������������ ���!


�!��� �	����� '����	� *>��� �� �����%�������� F̂ (ω)) 
�� �%� �!*���� ��� �%	�� ����<�

? ��������	 ����	 ��� �����%��������� Fourier ���  ������������ �	����� �����+

F̂ (ω)

2A

−β β
ω

0

�%	�� ����<+ F!��� F̂ (ω) �	����� '����	� *>����

�

F (ω) = A

{[
u(ω− ω0 + β)− u(ω− β − ω0)

]
+

[
u(ω + ω0 + β)− u(ω + ω0− β)

]}
. "����7�#

4���� �� *��(��

f(t)
F←→ F (ω). "����7�#

/�

g(t) = cos ω0t
F←→ π [δ(ω + ω0) + δ(ω − ω0)] "����76#



&6 �� ��������	�
� �
���������
����

���� � 
����
������� ������� (amplitude demodulation) ���������� ��

r(t) = f(t) g(t)
F←→ R(ω) =

1

2π
(F ∗G)(ω). "����77#

/��!

R(ω) =
1

2π
(F ∗G)(ω) =

π

2π

[
F (ω +ω0)+F (ω−ω0)

]
=

1

2

[
F (ω +ω0)+F (ω−ω0)

]
. "����79#

;��� 	 ��

f(t) = f̂(t) cos ω0t
F←→ F (ω) ����� ��� �%	����� ����9 "����7<#

�
�� 	

F (ω) =
1

2

[
F̂ (ω − ω0) + F̂ (ω + ω0)

]
"����9=#

�� �������!����� ��� "����9=# ���� "����79# 
��������+

R(ω) =
1

2
[F (ω + ω0) + F (ω − ω0)]

=
1

4
[F̂ (ω) + F̂ (ω + 2ω0) + F̂ (ω − 2ω0) + F̂ (ω)]

=
1

2
F̂ (ω) +

1

4
F̂ (ω + 2ω0) +

1

4
F̂ (ω − 2ω0). "����9&#

G
��� �� �����!�� �� R(ω) �� ��� ���� ��'��� ������ 
� 
����C�� �� 1
2
F̂ (ω)� /
� ��

�%	�� ����9 ��� �� "����7�# ���(����*� ���+

R(ω) =
1

2

[
F (ω + ω0) + F (ω − ω0)

]
=

= A
[
u(ω + β)− u(ω − β)

]
+ +

A

2

[
u(ω + 2ω0 + β)− u(ω + 2ω0 − β)

]
+

A

2

[
u(ω − 2ω0 + β)− u(ω − 2ω0 − β)

]
. "����9.#

����
>� �
� ��� "����9&# ��� "����9.# �����
��> ���

1

2
F̂ (ω) = A

[
u(ω + β)− u(ω − β)

] F←→ f̂(t) = 2A
β

π
sinc(βt) "����90#

��� �
������

f(t) = f̂(t) cos ω0t =
2Aβ

π
sinc(βt) cos ω0t "����9�#

�
�� sinc(x) = sin x
x �

������ ��  ��1��� ��� ��

ejϕ(t) F←→ F (ω) "����9�#



�� ��������	�
� �
���������
���� &7

��� ϕ(t) ����� 
��(�����	 ���!�����) ����

cos φ(t)
F←→ F (ω) + F ∗(−ω)

2
"����96#

sin φ(t)
F←→ F (ω)− F ∗(−ω)

2j
. "����97#

����+

/
� �� "����9�# 
��������

F (ω) =

∫ +∞

−∞
ejφ(t) e−jωt dt =

∫ +∞

−∞
ej(φ(t)−ωt) dt "����99#

F{e−jφ(t)} �
=

∫ +∞

−∞
e−jφ(t) e−jωt dt =

∫ +∞

−∞
e−j[φ(t)+ωt] dt

=

[ ∫ +∞

−∞
ej(φ(t)+ωt)dt

]∗
(5.5.88)

=

[ ∫ +∞

−∞
ej(φ(t)−θt) dt

∣∣∣
θ=−ω

]∗

= F ∗(−ω) "����9<#

�
���

cos φ(t) =
ejϕ(t) + e−jφ(t)

2

F←→ F (ω) + F ∗(−ω)

2
"����<=#

sin φ(t) =
ejφ(t) − e−jφ(t)

2j

F←→ F (ω)− F ∗(−ω)

2j
. "����<&#




